Exercise 13-1

Hollings Company sells and delivers office furniture in the Rocky Mountain area.The costs associated with the acquisition and annual operation of a delivery truck are given below

Insurance ................... $1,600

Licenses ....................    $250

Taxes (vehicle) ...............$150

Garage rent for parking (per truck) $1,200
Depreciation ($9,000 - 5 years)
$1,800*
Gasoline, oil, tires, and repairs $ 0.07 per mile

* Based on obsolescence rather than on wear and tear.

Required;

1. Assume that Hollings Company has purchased one truck that has been driven 50,000 miles during the first year. Compute the average cost per mile of owning and operating the truck.

2. At the beginning of the second year, Hollings Company is unsure whether to use the truck or leave it parked in the garage and have all hauling done commercially. (The state requires payment of vehicle taxes even if the vehicle isn't used.) What costs from the previous list are relevant to this decision? Explain.

3. Assume that the company decides to use the truck during the second year. Near year-end an order is received from a customer over 1,000 miles away. What costs from the previous list are relevant in a decision between using the truck to make the delivery and and having the delivery done commercially? Explain.

4.  Occasionally, the company could use two trucks at the same time. For this reason, some thought is being given to purchasing a second truck. The total miles driven would be same as if only one truck were owned. What costs from the previous list are relevant to a decision over whether to purchase the second truck? Explain

Exercise 13-3 

Han Products manufactures 30,000 units of part S-6 each year for use on its production line. At this
level of activity, the cost per unit for part S-6 is as follows:

Direct materials ..............
  
$  3.60

Direct labor ................

$10.00
Variable manufacturing overhead
$  2.40
Fixed manufacturing overhead ..
$  9.00
Total cost per part ............      
$25.00
An outside supplier has offered to sell 30,000 units of part S-6 each year to Han Products for $21 per part. If Han Products accepts this offer, the facilities now being used to manufacture part S-6 could be rented to another company at an annual rental of $80,000. However, Han Products has determined that two-thirds of the fixed manufacturing overhead being applied to part S-6 would continue even if part S-6 were purchased from the outside supplier.

Computations showing how much profit will increase or decrease if the outside supplier's offer is accepted is required.
Exercise 13-4 

Delta Company produces a single product. The cost of producing and selling a single unit of this product at the company’s normal activity level of 60,000 units per year is:
Direct materials $ 5.10

Direct Labor      $ 3.80

Variable Manufacturing overhead $ 1.00

Fixed Manufacturing overhead $4.20

Variable selling and administrative  $1.50

Fixed selling and administrative     $2.40

The normal selling price is $21 per unit. The company's capacity is 75,000. An order has been received from a mail-order house for 15.000 units at a special price of $14. Thus, this order would not affect regular sales.

Required:

1.  If the order is accepted, by how much will annual profits he increased or decreased? (The order will not change the company's total fixed costs.)

2.  Assume the company has 1.000 units of this product left over from last year that are vastly inferior to the current model. The units must be sold through regular channels at reduced prices. What unit cost figure is relevant for establishing a minimum selling price for these units? Explain.
EXERCISE 13-7
A number of costs are listed below that may be relevant in decisions faced by the management of Svahn AB, a Swedish manufacturer of sailing yachts:
Case 1



Case 2





    Relevant   
Not Relevant
         Relevant         Not Relevant
	Sales Revenue
	
	
	
	

	Direct Materials
	
	
	
	

	Direct labor
	
	
	
	

	Variable manufacturing overhead 
	
	
	
	

	Depreciation—Model B100 machine 
	
	
	
	

	Book value—Model B100 machine 
	
	
	
	

	Disposal value—Model B100 machine 
	
	
	
	

	Market value—Model B300 machine (cost)
	
	
	
	

	Fixed manufacturing overhead (general) 
	
	
	
	

	Variable selling expense
	
	
	
	

	Fixed selling expense
	
	
	
	

	General administrative overhead
	
	
	
	


Required:

Copy the information above onto your answer sheet and place an X in the appropriate column to indicate whether each item is relevant or not relevant in the following situations. Requirement 1 relates to Case 1 above,  and requirement 2 relates to Case 2.

1.The company chronically has no idle capacity and the old Model B100 machine is the company's constraint. Management is considering purchasing a Model B300 machine to use in addition to the company's present Model B100 machine. The old Model B100 machine will continue to be used to capacity as before, with the new Model B300 machine being used to expand production. This will increase the company's production and sales. The increase in volume will be large enough to require increases in fixed selling expenses and in general administrative overhead, but not in the fixed manufacturing overhead.

2. The old Model B 100 machine is not the company's constraint, but management is considering replacing it with a new Model B300 machine because of the potential savings in direct materials with the new machine. The Model B100 machine would be sold. This change will have no effect on production or sales, other than some savings in direct materials costs due to less waste.

EXERCISE 13-8

Bed & Bath, a retailing company, has two departments. Hardware and Linens. A recent monthly contribution format income statement for the company follows

                       Department

      Total                Hardware       Linens

Sales ....................... 
      $4,000,000    $3,000,000    $1,000,000

Less variable expenses .........    1,300,000         900,000         400,000

Contribution margin ...........      2,700,000      2,100,000         600,000

Less fixed expenses ...........       2,200,000      1,400,000         800,000

Net operating income (loss) ..... $ 500,000      $ 700,000    $ (200,000)

A study indicates that $340,000 of the fixed expenses being charged to Linens are sunk costs or allocated costs that will continue even if the Linens Department is dropped. In addition, the elimination of the Linens  Department will result in a 10%  decrease in the sales of the Hardware Department.

Required:

If the Linens Department is dropped, what will be the effect on the net operating income of the company as a whole?

EXERCISE 13-10

Imperial Jewelers is considering a special order for 20 handcrafted gold bracelets to be given as gifts to members of a wedding party. The normal selling price of a gold bracelet is $189.95 and its unit product cost is $149.00 as shown below:

	Direct Materials
	$84.00

	Direct Labor
	45.00

	Manufacturing Overhead
	20.00

	Unit Product Cost
	$149.00


Most of the manufacturing overhead is fixed and unaffected by variations in how much jewelry is produced in any given period. However, $4.00 of the overhead is variable with respect to the number of bracelets produced. The customer who is interested in the special bracelet order would like special filigree applied to the bracelets. This filigree would require additional material costing $2.00 per bracelet and would also require acquisition of a special tool costing $250 that would like no other use once the special order is completed. This order would have no effect on the company’s regular sales and the order could be fulfilled using the company's existing capacity without affecting any other order
Required:

What effect would accepting this order have on the company's net operating income if a special price of $169.95 per bracelet is offered for this order? Should the special order be accepted at this price?

Exercise 13-11
Barlow Company manufactures three products: A, B, and C. The selling price, variable costs and contribution margin for one unit of each product follow:

	
	
	Product
	

	
	A
	B
	C

	Selling Price
	$180
	$270
	$240

	Less Variable Expenses:
	
	
	

	   Direct Materials
	24
	72
	32

	   Other Variable Expenses
	102
	90
	148

	Total Variable Expenses
	126
	162
	180

	Contribution Margin
	$54
	$108
	$60

	Contribution Margin Ratio
	30%
	40%
	25%


The same raw material is used in all three products. Barlow Company has only 5,000 pounds of raw material on hand and will not be able to obtain any more of it for several weeks due to a strike in its supplier’s plant. Management is trying to decide which product(s) to concentrate on next week in filling its backlog of orders. The material costs $8 per pound- one pound is equal to about 450 grams. 

Required:
1. Compute the amount of contribution margin that will be obtained per pound of material used in each product,

2. Which orders would you recommend that the company work on next week—the orders for product A, product B, or product C? Show computations.

3. A foreign supplier could furnish Barlow with additional stocks of the raw material at a substantial premium over the usual price. If there is unfilled demand for all three products, what is the highest price that Barlow company should be willing to pay for an additional pound of materials? Explain.
Exercise 13-12
Dorsey Company manufactures three products from a common input in a joint processing operation. Joint processing costs up to the split-off point total $350,000 per quarter. The company allocates these costs to the joint products on the basis of their relative sales value at the split-off point.


Unit selling prices and total output at the split-off point are as follows:
	Product
	Selling Price
	Quarterly Output

	A
	$16 per pound
	15,000 pounds

	B
	$8 per pound
	20,000 pounds

	C
	$25 per gallon
	4,000 gallons


Each product can be processed further after the split-off point. Additional processing requires no special facilities. The additional processing costs (per quarter) and unit selling prices after further processing are given below:
	Product 
	Additional Processing Costs
	Selling Price

	A
	$63,000
	$20 per pound

	B
	$80,000
	$13 per pound

	C
	$36,000
	$32 per gallon


Required:
Which product or products should be sold at the split-off point and which product or products should be processed further? Show computations.

Problem 13-20
Andretti Company has a single product called a Dak. The company normally produces and sells 60,000  Daks each year at a selling price of $32 per unit. The company's unit costs at this level of activity are given below:
Direct materials ..................... 
 
 $10.00

Direct labor .........................    
    
    4.50

Variable manufacturing overhead .......     
    2.30

Fixed manufacturing overhead .........               5.00      ($300,000 total)

Variable selling expenses ..............    
    1.20

Fixed selling expenses ................     
    3.50      ($210,000 total)

Total cost per unit ....................   

$26.50
A number of questions relating to the production and sale of Daks follow. Each question is independent.
Required:
1. Assume that Andretti Company has sufficient capacity to produce 90,000 Daks each year without any increase in fixed manufacturing overhead costs. The company could increase its sales by 25% above the present 60,000 units each year if it were willing to increase the fixed selling expenses by $80,000. Would the increased fixed selling expenses be justified?

2. Assume again that Andretti Company has sufficient capacity to produce 90,000 Daks each year. A customer in a foreign market wants to purchase 20,000 Daks. Import duties on the Daks would be $1.70 per unit, and costs for permits and licenses would be $9,000. The only selling costs that would be associated with the order would be $3.20 per unit shipping cost. Compute the per unit break-even price on this order

3. The company has 1,000 Daks on hand that have some irregularities and are therefore considered to be "seconds." Due to the irregularities, it will be impossible to sell these units at the normal price through regular distribution channels. What unit cost figure is relevant for setting a minimum selling price? Explain.

4. Due to a strike in its supplier's plant, Andretti Company is unable to purchase more material for the production of Daks. The strike is expected to last for two months. Andretti Company has enough material on hand to operate at 30% of normal levels for the two-month period. As an alternative, Andretti could close its plant down entirely for the two months. If the plant were closed, fixed manufacturing overhead costs would continue at 60% of their normal level during the two-month period and the fixed selling expenses would be reduced by 20%. What would be the impact on profits of closing the plant for the two-month period?

5. An outside manufacturer has offered to produce Daks and ship them directly to Andretti's customers. If Andretti Company accepts this offer, the facilities that it uses to produce Daks would be idle; however, fixed manufacturing overhead costs would be reduced by 75%. Since the outside manufacturer would pay for all shipping expenses, the variable selling expenses would be only two-thirds of their present amount. Compute the unit cost that is relevant for comparison to the price quoted by the outside manufacturer. 
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